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Annotation: The model of a black hole of elementary particles is based on not the classical
cosmological theory the general interpretation of the Universe and our Universe and the
theory of elementary particles. In a basis the principal postulate of the theory the Microcosm
and the Universe - a substance structure, i.e. elementary particles, atoms, a piece of a
substance and planets, stars, galaxies, megagalaxies is included, to our Universe and the
Universe is identical i.e. in the centre or the kernel of these plants the black hole is arranged.
Black holes possess extreme sizes of characteristic space-energy, energy and gravitational
force of extremely large magnitude. From this model we can calculate all parameters of black
holes of all groups of elementary particles.

Main trigonometric identity of the geometry hyperspace-energy black hole of the elementary
particles: - (cos a)5/4 = Jcosa,y;

Main equation of the mechanics of the black hole of the elementary particle:

5/ Ci C(Z) 1
(Ey) - (cosa) /4 =E,y; rae (Elp)=[3w'c—(2)=[3w'c_(z)' 0
Y

energy of the elementary particle in own hyperspace - energy;

E,.w — energy of the black hole of the elementary particle, which shall define as:
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2my -1y 8 /s our Universe;
Y

Fy — factor of the geometry for corresponding to groups of the elementary particles;
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— radius — vector hyperspace — energy of our universe;
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From main equation mechanics of the black hole we shall define r,, — radius of the black hole of the

elementary particles. For beginning we shall define geometry hyperspace-energy of the black hole of
the elementary particles that is to say we shall solve equation: — (cos 0()5/4 = /COS ay ;

g 2nFy 1
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energy of eta-muon of the interaction in hyperspace-energy of the elementary particle;
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(v2 )5/8 (e-p )3/8 N |electro — gravitational moment of the energy hyperspace — energy
nops y of the el. particle

r, — own wave radius — vector of the elementary particle.
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From main equation of the mechanics of the black hole we shall define own wave radius-vector of the
elementary particle » r:
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r - Bq{“‘ = |\/¥,| ; » module of the field square of the square moment of the energy "'psi’’- world
constant elementary particles.
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v

where: LPB\P )51 IP\/E
— not field and field square moments of the energy of the elementary particles

From main equation of the mechanics of the black hole we shall define wave radius-vector of the black
hole of the elementary particle:
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We shall define energy and radius of the black hole for all five groups of the elementary particles from

system of two equations:
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. T, 4.293016746 - 107*
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